
Price® Pump Company 
21775 Eighth Street East   °  Sonoma,  CA  95476  °  (707) 938-8441  °  Fax (707) 938-0764 

 
This is a reference document that only applies to RC pumps in Cast Iron Construction and Bronze Fitted.  
RC pumps in Bronze or SS construction will only be available in new Hexed Style. 

Keyed (Old) Style Sold Until January, 2007 
  RC200 RC200 & 300 RC300 
 Impeller  Specify diameter All Iron 4184-dia  4230-dia 
  CIBF 4128-dia  4119-dia 
 Bracket footed (for round frame motors)  2426  
 Optional Bracket round frame (for footed motors not shown)  2428   
 Shaft with setscrews (56C motors) 5/8” ID (Keyed)  2421-1   
 Optional shaft w/setscrews 7/8” ID (Keyed)  2422-1  
    (For 143TC, 145TC, 182C, 184C motors)  0268-1  
 Impeller Lockdown  0917 
 Impeller Lockdown Key   2424 
           Impeller Lockdown Washer  2423  
 
RC Keyed Style Repair Parts Kit  
Repair kits includes: Keyed Shaft w/ SS, Slinger (5/8” shaft only), Impeller Lockdown Bolt,  
Impeller Lockdown Washer, Impeller Key 
New Keyed Style P/N 2204 for 56C 5/8”  Keyed shaft 
New Keyed Style P/N 2204-1 for 56C 7/8”  Keyed shaft 
Note:  Seal/Seat must be ordered in addition to kit. 
 

 

Hexed (New) Style Sold After January, 2007 
     RC200 RC200 & 300 RC300 
 Impeller  Specify diameter All Iron  4185-dia  4186-dia 
  CIBF  4115-dia  4116-dia 
 Bracket with Foot     2426 
 Optional Bracket without Foot    2428 
 Shaft w/ setscrews (56C motor) 5/8” ID (Hexed)   3714-1 
 Optional Shaft w/ setscrews 7/8” ID (Hexed)   3715-1 
    (For 143TC, 145TC, 182C, 184C motors) 
 Impeller Lockdown   0575 
 Impeller Lockdown Washer   2423 

¼-Vibration L/W .425 OD (2 rqd) 2344 
 
RC Hexed Style Repair Parts Kit (Beginning January 2007) 
Repair kits includes: Hexed Shaft w/ SS, Slinger (5/8” shaft only), Impeller Lockdown Bolt,  
Impeller Lockdown Washer, ¼-Vibration L/W .425 OD  
New Hexed Style P/N 2207 for 56C 5/8”  Hexed shaft 
New Hexed Style P/N 2207-1 for 56C 7/8”  Hexed shaft 
Note:  Seal/Seat must be ordered in addition to kit. 
 
 
 
 

(RCOld-Ne2.doc  Parts07) 

RC Old vs. New Part Numbers 
Effective:  June 20, 2012 

The BOM/Spec for  
these pumps begin with:

D31 D65 
D32 D67 
D33 D68 
D34 D69 
D35 D70 
D36 D71 
D60 193 
D62 195 
D64 486 

The BOM/Spec for  
these pumps begin with:

190 219 
196 220 
197 221 
198 223 
199 224 
211 225 
212 226 
213 227 
214 228 
215 230 
216 233 
218 234 

 
Any	questions?	Contact	your	nearest	distributor	at	
http://www.pricepump.com/findDistributor.asp	

or	contact	factory.	


